TS Z @4y = aVbx O I Trt 28R AHEHS 27 Uret
e 12U (Fab#0)

@D ab > 0 ©°]H Al 3AFEH
@ ab < 0 °]H Al 4AHEH
® a<0,b>0 0] A 4AH2H
@ a>0,b<0°]H A 1AHEH

® a<0,b<0o°]H A 2AHEH



TR

4 —
D (x> 00 ep o) x2487 109w, 44 a ]
X

ol

3) 3 @ 4 B 5

® 2



D {x|x<-3) ® {xMS_;} ® {x|x2_§}
@ {x1x22} ® xixzy



4.

¥ = —Vax b+ ¢ Az o] AFo] ob
TR S G, at bt ool LI

o0 @1 ©®2 ®3 G4

\ 4



S omd oo
s o 4>
s B <
Tee
iﬂ@?
1=
£+
= o
iL
a5
2|y
L-\i
>
oy
AE
AUNy)
|

0(39  a(ho
D

@ (_ \/5» 0)



x> 2014 Ao F 4 f(x), g(0)7F f(x) = Va-2+2, g(x) =
1

— +29 9 (F-2)(3)+ (g- £)(3) & &S T35z},

& e
c






o9

A, g(-3) 9] &k

@ 9t

® B -5

@D 4



3 QoA ] 9l & 9



10.

y= v2x9 1

y= V2x+6 -

DS xyZO08 g yE08 n g

23 LSk}, n—m ] F2?

D 1 @ 2 3 3 @ 4



AEP AN A Pl y = -
AEEES BT 59

O A 1AHEH
® A 3AFEH
® A 3AFEH, A 4AFEH

V=x+2+ 19 Jx7t Ay gk

@ A 2AEH

@ Al 1AREH, Al 2AHEH



12.

y= Vix—124+ 59 T3y =2x 0] I LE xFHO0 2 o,

yHOE pTE Bl

Qe

A0t} o + 2l A& Fatolat



13. FEdry = Va—x-19 IFHZ7F IdHE Ay Aol
{x|x<al 1°ﬂ°l ly>p L, ata+p 2 3+ FotHE?

@ -2 @ -1 3 0 @ 1 ® 2



14.

g Rel@sy = VaxrF b+ o) 1
& Aolt}, o] W, A<= a, b, c o thotod
c 9] 727




15.




3(x—1)°l

o_,._
¥

ool (fo) (1)

@ 4 3 6 @ 8 A 10

@D 2



17. Fegry= Vx—a+ 1o tiste] 71(2) =3 o, = a2 Bh=
517

D1 @ 2 3 3 @ 4 B 5



18.

BTGy = yax ] Tefae] gt ke A

O AHoJHL (x| x>0} o]t}

@ A9 {yly=0) ol

® y = - vax % x Zo| tjste] chgolct,
@ y = v=ax ¢ y Fo tisto] thgolrt

® a>00|H AT} A |AFRHL 2t




Fagsry = - /-2(x - 2) + 37 A RE AFEH LY
D 1,24 2H @ 1,4 AF5EH
®1,2,3A%H @ 2,3,4 A EH



20.

1

X) = Vx—-2+2, g(x):erT?a] i, (fog)(3) + (g0 £)(3) <



